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(d) Compute /a‘f)+ yzdy + (£ + y*) dz where C is the positively oriented curve
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2. Is there a vector field such that curlF = — 2z + 3yz]— z2°k7
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4. Identify the surface which is the graph of the vector-function (u,v) =< u+v,u % v, 7 =>.
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5. Find a parametric representation of the following surfaces:

(a) z+2y+3z2=0;
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(b) the portion of the plane x + 2y + 3z = 0 in the first octant;
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(c) the portini of the plane = + 2y + 32 = 0 inside the cylinder 2+ yz =0;

The  parametsr domacy
4 %“W =9

o

(e) y=a%
=X
;)(l

(4)  2+axtoys

= z2+2x2
4,

o)
X=x

=Z

(f) the portion of the eylinde
and y =3

z

betwcen the planes y = —1
o?&lw dwveal™e00rd




6. Find an equation of the plane tangent to the surface x = u,y = 2v, 2z = u®> + v* at the
point (1,4, 5).
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7. Given a sphere of radius 2 centered at the origin, find an equation for the plane tangent
to it at the point (1,1, v/2) considering the sphere as
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(¢) a surface ctrized by the spherical
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8. Find the area of the part of the eylinder 22 4 22 = 1 which lies between the planes y =0
andr+y+z=4 .2
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9. Find the area of the portion of the cone % = y* + 2 between the planes z = 0 and = = 2.
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